
 

  

 

 

B.Com. DEGREE EXAMINATION —  

JUNE, 2010. 

First Year 

Commerce/Computer Applications 

FINANCIAL ACCOUNTING 

Time : 3 hours Maximum marks : 75 

PART A — (3 × 5 = 15 marks) 

Answer any THREE questions. 

1. Explain the uses and limitations of Balance Sheet. 

 C¸¨¦ {ø»U SÔ¨¤ß £¯ß£õkPøÍ²®,  
SøÓPøÍ²® ÂÍUS. 

2. Calculate Gross Profit from the following : 

 Sales – Rs. 5,00,000    

 Purchases – Rs. 2,00,000 

 Closing stock – Rs. 50,000 

 Wages and expenses – Rs. 1,20,000 

 Sales returns – Rs. 10,000 

 Opening stock – Rs. 20,000. 
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 ö©õzu C»õ£zøu PnUQkP. 

 ÂØ£øÚ – ¹. 5,00,000    

 öPõÒ•uÀ – ¹. 2,00,000 

 CÖv \µUQ¸¨¦ – ¹. 50,000 

 T¼ ©ØÖ® ö\»ÄPÒ – ¹. 1,20,000 

 ÂØ£øÚ v¸¨£® – ¹. 10,000 

 Bµ®£ \µUQ¸¨¦ – ¹. 20,000. 

3. Find out profit from the following : 

 Opening Capital – Rs. 18,00,000   

 Drawings – Rs. 1,80,000 

 Closing Capital – Rs. 29,00,000 

 Additional Capital – Rs. 5,50,000   

 C»õ£zøu PnUQkP. 

 Bµ®£ ‰»uÚ® – ¹.  18,00,000   

 Gk¨¦ – ¹.  1,80,000 

 CÖv ‰»uÚ® – ¹.  29,00,000 

 Tku»õP ‰»uÚ® – ¹.  5,50,000. 
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4. A company purchased a plant for Rs. 50,000.  

The useful life of the plant is 10 years and the 

residual value is Rs. 10,000. Find out the rate of 

depreciation under straight line method. 

J¸ {ÖÁÚ® ¹. 50,000US J¸ ö£õÔ C¯¢vµzøu 

Áõ[Q¯x. Auß  B²Ò Põ»® 10 Á¸h[PÒ ©ØÖ® 

Auß ªS¢u ©v¨¦ ¹. 10,000. ÷u´©õÚzvß \uÃu® 

GßÚ Gß£øu ÷|º÷Põmk •øÓ°À Psk¤iUPÄ®. 

5. Prepare branch debtors account : 

 Branch Debtors (Opening) Rs. 3,000 

 Branch Debtors  (Closing) Rs. 1,000 

 Credit sales Rs. 15,000 

 Cash received from Debtors by the branch  

Rs. 16,000 

 Discount allowed to customers by branch  

Rs. 1,000.   

 QøÍU PhÚõÎPÒ PnUøPz u¯õ›UP : 

 QøÍU PhÚõÎPÒ (öuõhUP®) ¹. 3,000 

 QøÍU PhÚõÎPÒ  (CÖv) ¹. 1,000 

 Phß ÂØ£øÚ ¹. 15,000 

 PhÚõÎPÎhª¸¢x ö£ØÓ öµõUP® ¹. 16,000 

 QøÍ ÁÇ[Q¯ ÁõiUøP¯õÍ¸US uÒÐ£i  

¹. 1,000.   
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PART B — (4 × 15 = 60 marks) 

Answer any FOUR questions. 

6. What are the basics for the allocation of expenses 

of different departments of an organisation? 

 J¸ {ÖÁÚzvß xøÓPÐUS ö\»ÂÚ[PøÍ 

£Qº¢uÎUS® •øÓ GßÚ? 

7. Loyal company opened a branch at Madras on 

1.1.09. From the following, prepare Madras 

Branch a/c effected for 2009 and 2010. 

 2009 

Rs. 

2010 

Rs. 

Goods sent to Madras Branch 15,000 45,000 

Cash sent to Branch for :   

Rent 1,800 1,800 

Salaries  3,000 5,000 

Other expenses  1,200 1,600 

Cash received from Branch 24,000 60,000 

Stock on 31st Dec. 2,300 5,800 

Petty cash in hand on 31st Dec. 40 30 
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 »õ¯À {ÖÁÚ® ö\ßøÚ°À 1.1.09 AßÖ J¸ QøÍ  

xÁUQ¯x. uø»ø© A¾Á»P HkPÎÀ 2009 ©ØÖ® 

2010–® BsiØPõÚ ö\ßøÚ QøÍ PnUSPøÍ 

öPõkUP¨£mh ÂÁµ[PÎ¼¸¢x u¯õ›UPÄ®. 

 2009 

¹. 
2010 

¹. 

ö\ßøÚUS \µUS AÝ¨¤¯x 15,000 45,000 

QøÍUS AÝ¨¤¯ öµõUP® :   

ÁõhøPUPõP  1,800 1,800 

\®£ÍzvØPõP 3,000 5,000 

Cuµ ö\»ÄPÐUPõP 1,200 1,600 

QøÍ°¼¸¢x ö£ØÓ öµõUP® 24,000 60,000 

\µUS 31 i\®£›À 2,300 5,800 

]À»øµ öµõUP® 31 i\®£›À 40 30 

8. A company acquired a machine on 1.1.07 at a cost 

of Rs. 40,000 and spent Rs. 1,000 on installation. 

The firm writes off depreciation at 10% on the 

diminishing balance. The books are closed on 31st 

December of each year. Show the Machinery A/c 

for 3 years. 

 J¸ {ÖÁÚ® 1.1.07 AßÖ ¹. 40,000 AhUP 

Âø»°À J¸ C¯¢vµzøu Áõ[Q¯x. AuøÚ 

{ÖÄÁuØS ¹. 1,000® ö\»Âh¨£mhx. ÷u´©õÚ® 
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SøÓ¢x ö\À C¸¨¦ ©v¨¦ •øÓ°À 10%BP 

PnUQh¨£kQÓx. A¢{ÖÁÚ® Bsk ÷uõÖ® 

Auß PnUSPøÍ i\®£º 31À •iUQßÓx. GÚ÷Á 

Auß ‰ßÖ BskPÐUS®, C¯¢vµU PnUøP 

PõmkP. 

9. The following is the Trial Balance of Sugumar of 

Chennai as on 31st December 2009. 

Debit Balances Rs. Credit Balances Rs. 

Opening stock 6,200 Sales  82,920 

Buildings 34,000 Capital 24,000 

Furniture  2,000 Bank loan 6,000 

Purchases  42,400 Sundry creditors  9,840 

Salaries  4,400 Return outwards  840 

Rent 1,200 Interest  260 

Other expenses  1,000 Dividend 220 

Postage  560   

Stationery 520   

Wages  10,400   

Freight on purchases  1,120   

Carriage on sales  1,600   

Repairs  1,800   

Sundry Debtors  12,000   

Bad debts 240   
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Debit Balances Rs. Credit Balances Rs. 

Cash in hand 2,600   

Return inwards  2,040   

 1,24,080  1,24,080 

 The value of stock on 31.12.2009 was estimated at  

 Rs. 5,960. 

 Prepare Trading and Profit and Loss Account and 

a Balance Sheet as on 31.12.2009. 

31 i\®£º 2009 AßÖ v¸. _S©õº Gß£Á›ß C¸¨¦ 

÷\õuøÚ¨ £mi¯À ¤ßÁ¸©õÖ. 

£ØÖ ÂÁµ[PÒ ¹. ÁµÄ ÂÁµ[PÒ  ¹. 

Bµ®£ \µUQ¸¨¦ 6,200 ÂØ£øÚ 82,920 

Pmih[PÒ 34,000 ‰»uÚ® 24,000 

AøÓP»ß 2,000 Á[Q Phß 6,000 

öPõÒ•uÀ 42,400 £Ø£»   

\®£Í® 4,400   PhÜ¢÷uõºPÒ 9,840 

ÁõhøP 1,200 öPõÒ•uÀ   

Cuµ ö\»ÄPÒ 1,000   v¸¨£® 840 

u£õÀ ö\»ÄPÒ 560 Ámi 260 

GÊzx ö£õ¸ÒPÒ 520 £[S Buõ¯® 220 

T¼PÒ 10,400   
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£ØÖ ÂÁµ[PÒ ¹. ÁµÄ ÂÁµ[PÒ  ¹. 

öPõÒ•uÀ \µUS T¼ 1,120   

öÁÎa _ø©  
  ÂØ£øÚ T¼ 

 

1,600 

  

£Êx£õºzuÀ 1,800   

£Ø£» PhÚõÎPÒ 12,000   

\¢÷uPU PhÝUS JxURk 240   

öµõUP øP°¸¨¦ 2,600   

ÂØ£øÚ v¸¨£® 2,040   

 1,24,080  1,24,080 

 31.12.2009 CÖv \µUQ¸¨¦ ¹. 5,960. AßøÓ¯ 

÷uv°À EÒÍ Â¯õ£õµ ©ØÖ® C»õ£ |mhU 

PnUSPøÍ u¯õ›zx C¸¨¦ {ø»U SÔ¨¦ 

JßøÓ²® u¯õ›UPÄ®.  

10. Prepare sales ledger adjustment account from the 

following information relating to the year ended 

31.12.09. 

 Rs.  Rs. 

Opening Balance of Drs. 40,000 Bills Receivable   

Sales (cash 10,000) 90,000   dishonoured   500 

Cash received from Drs. 80,000 Bad debts 1,000 
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 Rs.  Rs. 

Discount allowed to Drs. 500 Transfer to  

Bills receivable received     purchase ledger  2,000 

  from Debtors  3,000 Reserve for doubtful  

Sales returns 8,000   debts 1,500 

  Bad debts of last   

    year received  1,000 

 RÌUPõq® ÂÁµ[PÎ¼¸¢x ö£õx ÷£÷µmiÀ 

ÂØ£øÚ ÷£÷µmk \›UPmk PnUøP 31.12.09 

•iÁøh¢u BskUPõP u¯õº ö\´P. 

 ¹.  ¹. 

£Ø£» PhÚõÎPÎß Bµ®£ C¸¨¦ 40,000©ÖUP¨£mh ö£ÖuØS›¯    

ÂØ£øÚ  (öµõUP® 10,000) 90,000  ©õØÖa^mk 500 

PhÚõÎPÎhª¸¢x ö£ØÓ öuõøP 80,000ÁµõUPhß  1,000 

PhÚõÎPÐUS AÎzu uÒÐ£i 500öPõÒ•uÀ ÷£÷µmkUS  

PhÚõÎPÎhª¸¢x    ©õØÓ® ö\´¯¨£mhx 2,000 

  ö£ØÓ ©õØÖa^mk 3,000I¯UPhß Põ¨¦  1,500 

 •¢v¯õsiß ÁµõUPhß  

   ö£ØÓz öuõøP 1,000 
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11. From the following prepare Departmental  

Trading A/c the rate of Gross Profit is the same in 

each case. 

Purchases  Total Sales Opening Stock 

Dept Units  Dept Units  Dept Units 

X 200  X 180 at Rs. 15 p.u. X 100 

Y 1,400 Cost Y 1,500 at Rs. 18 p.u. Y 400 

Z 400 Rs. 5,100 Z 450 at Rs. 6 p.u. Z 60 

 RÌUPsh ÂÁµ[PÎ¼¸¢x xøÓÁõ› Â¯õ£õµU 

PnUøP u¯õº ö\´P. ö©õzu »õ£ Ãu® AøÚzx 

xøÓPÎ¾® \©®. 

öPõÒ•uÀ ÂØ£øÚ Bµ®£ C¸¨¦

xøÓA»SPÒ  xøÓ A»SPÒ  xøÓ A»SPÒ 

X 200 ö©õzu® X 180 JßÖ ¹. 15 Ãu® X 100 

Y 1,400 Âø» Y 1,500 JßÖ ¹. 18 Ãu® Y 400 

Z 400 ¹. 5,100 Z 450 JßÖ ¹. 6 Ãu® Z 60 

12. Antony keeps his books on the single entry 

system, and the following information is  

available : 

 1.1.2009 31.12.2009 

 Rs. Rs. 

Cash 9,860 57,020 

Stock 38,520 57,020 
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 1.1.2009 31.12.2009 

 Rs. Rs. 

Plant and Machinery  54,420 61,000 

Bills Receivable – 16,480 

Sundry Debtors  24,840 43,940 

Sundry Creditors 72,040 80,000 

Furniture  4,960 5,220 

Drawings – 5,000 

 During the year he introduced additional capital 

of Rs. 20,000. Prepare a statement of profit for the 

year ended 31.12.09. 

 A¢÷uõo Gß£Áº uß HkPøÍ JØøÓ £vÄ 

•øÓ°À ¤ß£ØÖQÓõº. Auß Â£µ[PÒ : 

 1.1.2009 31.12.2009 

 ¹. ¹. 

öµõUP® 9,860 57,020 

\µUQ¸¨¦ 38,520 57,020 

ö£õÔ C¯¢vµ® 54,420 61,000 

ö£ØÓ ©õØÖa^mk – 16,480 

£Ø£» PhÚõÎPÒ 24,840 43,940 
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 1.1.2009 31.12.2009 

 ¹. ¹. 

£Ø£» PhÜ¢÷uõº 72,040 80,000 

AøÓP»ß 4,960 5,220 

Gk¨¦ – 5,000 

 BsiÀ ¹. 20,000 Tku»õP ‰»uÚ® 

ö\´¯¨£mhx. 31.12.09US›¯ C»õ£ AÔUøPø¯ 

u¯õ›UPÄ®. 

——––––––––– 


